NCERT Exemplar Solutions by Dev Anoop (Bathinda)
; %
%!/b@() a7 5N plx—5

96)= X2 @)

M/é@r): x?‘lx""‘;’_ggz L6 9
/‘5@) = ;5—- 5%&52.71_4/)(&"‘5 ?(’?{ 2 _::_ X+ >
o B O 4B —5

exn 23 IX exemblay

T b(-3) = £3)- (=35 130469
== sl R ) ik B BT
==l Gt EF
/g@() L4 rng,f a W“W%/ = O
3@“ o oxr3 QA @5’
e 2 Y
B pGr= ax~yx-4% o .
3@” s SR &;;6@): Do —Fu" AXAR
plb) = .t
2 —-‘?(3)4-._3#51
i R P(ED = axX(E)
A = -2 _ ;¥ 5
ALY AR ~ Y F s Pl
e BX-l — XL FYL S5 53/9,
n X v - 37 -8+ E+48
o il wed - IR S T
e T Ba L
—! =1 ARS3 - 81 ;87’
- Ly
= /£ - O
K
4

#0
pa> & not a ch&?éﬂe
% 0

NCERT Exemplar Solutions by Dev Anoop (Bathinda)



